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10 20V3

cos30° 3
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V3 3

Lx4+y=10V3
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cos 62 ° = 0.4695, tan 62 ° = 1.8807)
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(¥°]) = 10sin62° = 10 x 0.8829 = 8.8 (

m)




3. the AAPAPO| Hols Tatelel.

>
> HEh 30 cm?

(H°]) = 52 x 6 x sin45°

2
:5\/§><6><\/7_=30(cm2)




thg 73 ZHe AABC oA AB = 4em A
,BC =8cm, /B=60°<Y o, AC ¢] Zo]

9

@4 V3em @ 5+v3cm
® 6v3cm @ 5+2cm
® T7cm

B\\H //C
~-8cm-~
AH = 4sin 60°
:4><\/7§ =23
HC =8-BH
=8 —4cos60°
=8-2=6

AC’ =AW +HC o=
AC” = (2V3)2 + 62 = 12+ 36 = 48
. x=4v3(cm)




5. oS 93} ZHe AABC oA /B =85°, /C =
65°, BC =10 ¢ uj, AB 9] Zo]|& 4AH ot
Al 2k2]7kA] FFsted 2t (T sin 65 ° = 0.9063)

>
> HE: 18.126

/A =180°-(85°+65°) =30°
BH = 10sin65° = 9.063

B=——-=9.063x2=18.126
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1
(Wol) = = x 8 x 10 x sin (180° — 135°)

=§><8><10><sin45°

g
=%x8x10x‘/7_=20x/§(cm2)
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@ 200 cm? (@)200 V2 cm? ® 20043 cm?
@ 202 V2 cm? ® 202 V3 cm?

B

360° + 8 = 45°
1
(AAOH ¢ Ho])= 5 X 10X 10 x sin 45 co|E g

V2

e 1
(B9 %‘Ol)=§x10x10x7xs

=200 V2 (cm?)
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AC =10sin30° = 10x% = 5(m)
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6, /ABE = 45° ¢l
AZY715 9] ROl =2

® 126 @%‘/6 @ 48

@ 686 @)

BE = 8 X cos45° = 42
1
AZ715 0] HE 4V2x4V2 X 5 x 6 =96 ot




10.

th2 193 Zo] g Hof tisto] 40° B
710zl Blg o] Qltt. o] 4 utet

200m SeH2tth A A4 2 m &

oFREA] FEPH? (T, sin40° = 0.6428,

cos40° = 0.7660, tan 40 ° = 0.8391 )

JX40°

A C
D 153.2m @ 167.82m
@ 152.3m @128.56m

BC = AB x sin40°
= 200 x 0.6428 = 128.56 m




11. &3} Z-& AABC 94 BC

o] AdolE?
11V6
O 3
@ 4+6cm
® 13V6
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® 5+v6cm
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BC = x2} 514,
14 sin 45° = xsin 60°
Vi_ B

14X ~—= = xx —
X2 x><2

Lo 14V2 14V6
V3 3

,14V2 = V3x

(cm)
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22 AABC 9] 0l 2 Fale 1}

A
134 AR Bolt} o2 + b2 9 P&
T-5HH?
B \3‘0 45/ C

--10--""
AH = he}ohd
BH =axh, CH:bxh

ol o}, BH+ CH = 100|222

h(a+b) =10
@ 2 @)+ ® 6 @ 8 ® 10

B

/BAH = 60°, /CAH = 45° o|2&
BH = tan60°x h, CH = tan45° X h
a=tan60°= V3 0|1 b =tan45° =1
a4+ b?=4




13.

the 3 22 AABC 7} 9t AB =
20cm 2t & o, x o] do]&?

D 8+v3cm @ 9v3cm
@10 V3em @ 11vV3cm

® 12V3cm

BC = 20cm©®]1/CBD = 60°0| B2

3
x = 20 X 5in 60° = 20 x \/7_ = 10 v3(cm)




14. A,B 7 AH#ol o5

@ (20V2 + 1.7)m (@)(25 V34 1.7)m
® (25V2+1.7)m @ (28V2+1.7)m
® (30V3+ 1.7)m

~&B ~

o} 2ol CH = fm 2 3+ AH = tanhBOO,B_ _ ﬁ
ol Al
- 1 1
AH-BH=h (tan30° - tan60°)

1
50:h(\/_——)

V3

V3

Sh=50x - = 25V3(m)

"~ (Eo)= (25V3 + 1.7)m




15.

BC = x 2} 5} 8 x x x sin45° = 242
x=60°2%

HeAAPAE ABCD ©] E29] Aol 2x

(8 +6) = 28 o]t}




